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" « | BIERAL | fIEREALL | #TAL ATALE
& B f #
2 (%) FHE (%) FHE
wE 100.2 0.6 -0.2
BH 102.4 0.7 0.18 -05 -0.13
EEE] 102.1 0.4 0.01 1.0 0.02
arsE 104.3 45 0.11 -0.6 -0.02
A5E 103.5 2.9 0.07 14 0.03
ZLON%E 995 -20 -0.03 -1.1 -0.02
Fx-EE 104.8 38 0.11 -0.4 -0.01
2 112.1 -4.0 -0.05 -4.0 -0.05
SHAE - SRR 102.1 4.4 0.06 1.0 0.01
% 2 é 101.9 -0.9 -0.02 -24 -0.06
FEE S 99.0 -26 -0.08 -15 -0.05
fRH 102.0 0.9 0.01 0.3 0.00
ESE 99.8 -1.0 -0.01 -0.3 0.00
NE 101.2 0.4 0.02 0.0 0.00
THE 99.5 -0.2 -0.04 -0.4 -0.07
E3-1 99.1 -0.4 -0.07 -04 -0.06
R iEEE - 101.3 0.9 0.03 -0.2 -0.01
F&-KE 96.9 1.2 0.09 0.8 0.06
;ﬁs—ﬁﬁ 94.8 -1.4 -0.05 1.0 0.04
] A 91.4 -5.2 -0.07 0.4 0.00
oSz 92.8 21.4 0.08 4.4 0.02
LETFAKEH 107.3 7.3 0.13 0.0 0.00
RE-REAR 98.9 -0.6 -0.02 -1.3 -0.05
RERAM A 96.2 -04 0.00 -35 -0.04
FRNEHER 95.3 -8.7 -0.02 -2.0 0.00
Eif}g 101.7 2.7 0.01 -0.3 0.00
REHE 102.8 22 0.02 0.7 0.01
RERHE M 98.7 -26 -0.02 -1.1 -0.01
REY—ER 99.6 -0.3 0.00 0.0 0.00
BREVEY 101.0 1.3 0.06 -0.2 ~-0.01
# 101.4 0.9 0.02 -1.2 -0.02
%}%"Zﬁ't_g_' TiESE 95.2 -0.6 -0.01 2.2 0.02
¥ 106.7 1.9 0.01 0.0 0.00
1ﬁzo)$&ﬂﬁ 105.0 7.4 0.03 -1.6 -0.01
i AR EEEH —E X 104.0 2.6 0.01 0.0 0.00
REER 100.0 0.3 0.01 -0.5 -0.02
= 15_%1%?#}%#511'&“ 98.4 -1.6 -0.02 -15 -0.02
REEEAM-FE 99.3 0.9 0.01 -0.4 0.00
FEEEY—EXR 101.3 1.1 0.02 0.0 0.00
- iE{‘ 98.1 1.1 0.18 0.1 ~0.02
RE 99.0 -0.3 0.00 0.1 0.00
E HEFHERE 99.4 4.1 0.45 0.5 0.06
B|E 95.0 -5.6 -0.27 -1.7 -0.08
#HE 101.8 15 0.03 0.0 0.00
BRENE 102.9 2.3 0.03 0.0 0.00
HEE-2ESELHM 100.9 0.7 0.00 0.7 0.00
HEHRE 100.0 0.0 0.00 0.0 0.00
HEAR 101.2 14 0.12 0.4 0.04
%ggbx == rmmﬁar 106.4 2.1 0.01 49 0.02
15268 F o 100.5 0.0 0.00 0.0 0.00
E5E-hD EIJF'IJ% 100.7 0.6 0.01 0.0 0.00
HEEEH—ER 101.2 2.1 0.11 0.2 0.01
HME 101.0 0.2 0.01 -0.6 -0.04
HERY—ER 100.9 0.9 0.01 0.0 0.00
BEXAAR 97.5 -4.1 -0.07 -1.7 -0.03
SDEYHAR 107.6 4.1 0.03 -2.4 -0.02
=IES 101.7 1.7 0.01 0.0 0.00
R E 101.4 1.2 0.04 0.0 0.00
B REkRis 99.9 0.5 0.48 -0.2 -0.16
$EHBARUIRILY—4RR<BEE 100.3 0.1 0.05 -0.3 -0.28
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B ] 5 Ji)e ifi A L ifi
#£ A E<%§>E“ﬂtt E<%§>E“ﬂtt E<%§>E“ﬂtt
Mz ! H ! | Mz ! H ! | Mz ! H ! |
?ﬁ‘ ;& W Al ?ﬁ‘ ;& W Al ?ﬁ‘ ;& W Al
H (00) H (00) H (00 H (00) H (00 H (00)
SRR 244F 96. 2 0.0 96. 3 0.1 96. 2 0.4
25 96. 6 0.4 96. 6 0.2 96. 6 0.4
26 99. 2 2.7 99. 1 2.6 99. 2 2.6
27 100. 0 0.8 100. 0 0.9 100. 0 0.8
28 99.9 0.1 100. 0 0.0 99.7 -0.3
28/2 99. 6 0.2 0.1 99. 6 0.1 0.0 99. 4 0.4 0.0
3 99. 7 0.0 0.1 99.6  -0.2 0.0 99. 6 0.2 0.2
4 99.9 -0.3 0.2 99.9  -0.2 0.3 99.5 -0.3 0.1
5 100.0  -0.5 0.1 99.8 -0.7 0.1 99.9 -0.6 0.3
6 99.9 -0.4 0.1 99.7 -0.4 -0.1 99.6 -0.8 -0.3
7 99.6 -0.4 0.2 99.6 -0.4 0.1 99.5 -0.8 -0.1
8 99.7 -0.5 0.0 99.9  -0.3 0.3 99.6  -0.8 0.1
9 99.8 -0.5 0.2 99.9 -0.4 -0.1 99.6  -1.0 0.1
10 100. 4 0.1 0.6 100. 8 0.5 0.9 100.1  -0.2 0.4
11 100. 4 0.5 0.0 100. 7 0.9 0.0 100. 0 0.1 0.0
12 100. 1 0.3 -0.2 100. 6 0.9 -0.1 99.9 0.2 -0.1
29/1 100. 0 0.4 0.2 100. 4 0.9 -0.2 99.9 0.5 0.0
2 99. 8 0.3 0.1 100. 2 0.6 -0.2 99.5 0.0 -0.4
fif] (L il Jin 5 il ] [ il
O O O
A & #% <|atf> DET | FE O Ef) DET | FE O <|atf> DRI
%) (%) %) (%) (%) (%)
Rk 244 96.8 -0.2 96.2 -0.3 96.6  —0.2
25 96. 9 0.2 96.1  -0.1 96. 6 0.0
26 99. 4 2.5 98.5 2.5 99. 3 2.7
27 100. 0 0.6 100. 0 1.5 100. 0 0.7
28 99.9  -0.1 100. 0 0.0 100. 0 0.0
28/2 99.3 0.1 0.1 99. 8 0.7 0.1 99.5 0.3 0.0
3 99.5  -0.2 0.2 99.9 0.4 0.1 99.6  -0.1 0.1
4 99.9  -0.2 0.4 100.1  -0.1 0.2 100. 1 0.0 0.5
5 100.0  -0.4 0.0 100.1  -0.3 0.0 100.2  -0.3 0.1
6 99.9 -0.3 -0.1 100. 2 0.0 0.1 100. 1 0.0 -0.1
7 99.7 -0.4  -0.3 99.7 -0.3  -0.5 99.8 -0.4 -0.3
8 99.7 -0.5 0.0 99.7 -0.3 0.0 99.9 -0.3 0.1
9 100.1  -0.4 0.4 99.8 -0.9 0.1 100. 3 0.0 0.4
10 100. 5 0.0 0.5 100. 6 0.1 0.9 100. 5 0.3 0.1
11 100. 6 0.7 0.0 100. 5 0.5 -0.1 100. 2 0.2 0.2
12 100. 1 0.6 0.4 100. 3 0.3 -0.3 100. 0 0.1 -0.3
29/1 100. 2 1.0 0.0 100. 0 0.3 -0.2 100. 2 0.7 0.2
2 100. 2 0.9 0.1 99. 8 0.0 -0.2 99. 7 0.2 -0.4
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#® & ® ¥ fE B KB AW | FE-FERR | BREVCED | R & E %
| ORI LRI | ORI LRI | ORI LRI |
GSCNE ﬁ:(ﬁg):ﬁﬁﬂw Eicl &:(Iﬁii]):ﬁﬁﬂth # ﬁ:(ﬁg):ﬁﬁﬂw Eicl &:(ﬁiéﬂ):ﬁﬁmt # &:(Iﬁ‘g):ﬁﬁﬂw Eicl ;&:(lﬁiéﬂ):ﬁﬁmt Fi] &:(T):ﬁﬁﬂm
(%) | (%) L (%) | (%) (%) | (%) L (%) | (%) (%) | (%) L (%) | (%) L (%) | (%)
VEZAY 10000 2617 1862 753 374 437 424
244F | 96. 3 0.1 92.2 -0.1 100.3  -0.4 96. 0 4.0 96. 8 0.3 98.9 0.3 98.5 -1.0
254F 1 96.6 0.2 92.3 0.2 100.0 -0.3 97.9 2.0 94.7 -2.1 99.8 0.9 97.9 -0.6
264F | 99. 1 2.6 96. 2 4.2 100. 1 0.0 102.4 4.6 97.2 2.7 100.4 0.6 98.8 0.9
274 |100. 0 0.9 100.0 4.0 100.0 -0.1 100.0 -2.3 100. 0 2.9 100.0 -0.4 100.0 1.2
284 (100.0 0.0 101.8 1.8 99.8 -0.2 94.9 5.1 99.9 -0.1 102.7 2.7 100.5 0.5
28/299.6 0.1 0.0 ||101.7 2.6 0.6 199.7 -0.3 -0.1]95.7 -5.6 -0.799.5 1.3 -0.5199.6 1.2 -0.3 99.7 0.6 -0.1
3 99.6 -0.2 0.0 [101.6 2.3 -0.11]99.8 -0.3 0.1]95.0 -6.6 -0.8199.2 0.1 -0.4 |101.6 3.9 1.9 ]1100.1 0.3 0.4
4 99.9 -0.2 0.3 ||101.3 1.3 -0.3]99.8 0.0 0.0 {94.6 -6.6 -0.4 |101.0 -1.2 1.9 |102.9 2.8 1.4 1100.1 0.0 0.0
5 99.8 -0.7 -0.1 |101.4 0.5 0.0199.9 -0.2 0.0 [95.2 6.7 0.6 198.8 -1.5 -2.2 |102.9 2.3 -0.11]100.5 0.2 0.5
6 99.7 -0.4 -0.1 |100.8 1.0 -0.6 {99.8 -0.2 0.0 [94.5 -6.3 -0.898.0 -2.4 -0.7 |102.5 2.6 -0.3[100.9 0.8 0.3
7 99.6 -0.4 -0.1 |100.9 1.0 0.11]99.8 -0.2 0.0 [94.1 -5.7 -0.41]99.6 0.0 1.6 |100.8 2.8 -1.7]101.1 1.0 0.2
8 99.9 -0.3 0.3 |102.0 1.0 1.1 199.8 -0.2 0.0 [93.7 -5.4 -0.51]99.6 1.1 0.1 [100.9 4.0 0.1]100.8 0.5 -0.3
9 99.9 -0.4 -0.1 |101.5 0.2 -0.5199.7 -0.2 -0.11]93.4 -5.0 -0.3 [100.3 0.7 0.6 [105.1 3.2 4.11100.3 -0.5 -0.5
10 [100.8 0.5 0.9 [103.6 2.8 2.0199.8 -0.4 0.0 [95.0 -3.0 1.8 |101.3 —0.3 1.1 |105.2 2.7 0.2 1100.8 0.5 0.5
11 [100.7 0.9 0.0 |103.1 3.4 -0.4199.7 -0.5 -0.1]95.4 -2.7 0.4199.9 -0.4 -1.4 |106.1 3.3 0.8 {101.0 1.1 0.2
12 [100. 6 0.9 -0.1 |102.6 2.9 -0.5199.6 -0.2 -0.11]95.8 -1.9 0.5 (101.4 -0.3 1.5 |104.9 2.8 -1.11]100.7 0.7 -0.3
29/1|100. 4 0.9 -0.2 |102.9 1.8 0.3 199.9 0.1 0.2 196.1 -0.3 0.3 [100.3 0.2 -1.1(10L.1 1.2 -3.6 |100.5 0.7 -0.2
2 [100.2 0.6 -0.2 |102.4 0.7 -0.5199.5 -0.2 -0.4|96.9 1.2 0.8 198.9 -0.6 -1.3 |101.0 1.3 -0.2 |100.0 0.3 -0.5
x@E-Baf # i g %2 R X B AERERS AR ERBE ERERY
R B R B R TR 7 TR |
#A |18 %K (FR) iRk | &E(Iﬁii})iﬁﬁﬂﬂz 8 30U Wi |8 &E(Eﬂf)i)ﬁﬂﬂz 5 &5(@1{?)5%% # &E(Iﬁii])iﬁﬁﬂkh 18 %R A 18 R AR
L (%) | (%) (%) | (%) L (%) | (%) (%) | (%) L (%) | (%) (%) | (%) L (%) | (%) L (%) | (%)
VEZAY 1735 213 906 679 419 132 174 112
244F- | 98.8 0.4 96. 6 0.4 95.8 -1.2 94.5 -0.1 85.0 -1.4 84.7 2.8 86.0 -5.4 84.0 -0.7
254F |100. 1 1.4 97.2 6 94.8 -1.0 95.4 1.0 85.2 0.3 83.9 -0.9 86.2 0.2 85.7 2.0
264F |102.7 2.5 98.8 1.7 98. 1 3.5 98.8 3.6 92.6 8.7 99.0 18.0 87.6 1.6 91.4 6.6
2745 1100.0 -2.6 100. 0 1.2 100.0 2.0 100. 0 1.2 100. 0 8.0 100. 0 1.1 100.0 14.2 100.0 9.5
284F | 97.7 2.3 101. 4 1.4 101. 1 1.1 101.1 1.1 105.9 5.9 104. 8 4.8 104.8 4.8 109.1 9.1
28/2197.1 -2.0 -0.5 [100.3 1.3 0.0 199.9 0.5 0.0 {100.8 0.6 0.1 (104.5 5.3 3.8198.6 -3.3 -2.1/100.6 8.9 6.4 [117.3 10.0 6.7
3 97.0 -3.2 -0.1 [100.3 1.3 0.0 |100.1 0.2 0.2 (100.8 0.9 -0.1 104.1 2.7 -0.3199.2 -5.3 0.6 | 99.1 0.9 -1.5 [117.8 14.9 0.4
4 97.6 -2.3 0.6 [101.7 1.4 1.4 |101.4 1.4 1.2 |101.5 1.7 0.7 (102.1 -0.5 -1.9 [101.5 -4.3 2.3 1101.0 -3.2 1.9 [104.6 9.1 -11.2
5 97.5 -3.3 -0.1 [101.7 1.4 0.0 [100.7 1.1 -0.6 [101.2 1.4 -0.2 |103.1 -1.9 1.0 |100.4 1.7 -1.0 97.3 -9.1 -3.6 |115.2 5.3 10.1
6 98.4 -2.6 0.8 [101.7 1.4 0.0 [100.5 1.1 -0.2 |101.0 1.3 -0.2 |101.3 1.0 -1.7 (102.3 4.5 1.9 97.1 -2.6 -0.3 |106.7 2.6 -7.4
7 98.0 -3.0 -0.4 [101.8 1.4 0.1 (100.8 0.8 0.2 |101.1 1.6 0.1 f101.2 4.3 -0.1 [107.3 10.1 4.8 95.8 -0.8 -1.3 [102.4 5.3 -4.0
8 97.7 -2.7 -0.3 [101.8 1.4 0.0 |101.8 0.7 1.0 |101.0 1.1 -0.1 f107.0 3.3 5.7 |111.2 12.3 371 99.0 -5.0 3.3 [114.5 6.2 11.8
9 |97.3 -2.5 -0.4 |101.8 1.4 0.0 |101.3 1.2 -0.4 [101.5 1.1 0.5 108.0 2.7 0.9 |115.5 13.2 3.9 [108.3 -3.2 9.4 |98.7 0.4 -13.8
10 [97.7 -1.8 0.4 [101.8 1.4 0.0 [102.5 1.8 1.1 |101.1 0.9 -0.4 |118.0 17.3 9.2 |107.6 11.8 -6.8 |131.1 22.3 21.0 [109.9 15.3 11.3
11 [98.3 -0.9 0.6 [101.8 1.4 0.0 [102.4 1.8 -0.1 |101.0 0.7 -0.1 (112.1 21.2 -5.0 |103.8 8.5 -3.6(123.9 37.3 -5.5 [103.7 12.3 -5.6
12 [98.7 -0.4 0.4 |101.8 1.4 0.0 |101.6 1.6 -0.8 [101.4 1.0 0.5 (109.2 17.6 -2.6 [109.1 10.7 5.2 [109.3 23.8 -11.8 {108.9 17.2 5.1
29/198.2 0.7 -0.5 |101.8 1.4 0.0 |100.9 1.0 -0.7 (101.6 0.9 0.2 |110.0 9.3 0.8 |110.1 9.3 0.9 |105.7 11.8 -3.3 [116.6 6.1 7.1
2 198.1 1.1 -0.1 [101.8 1.5 0.0 [101.2 1.4 0.4 |101.0 0.2 -0.6 (107.8 3.2 -2.0 108.7 10.2 -1.3 [104.7 4.0 -1.0 111.7 4.7 -4.2
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@ 5 fi
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& £ ¥ H ¥ H g L7 £l H i ot $H = JE i3 £
28/2] 99.6 |101.7 5101.7 99.9 5100.6 2101‘6 5100.9 2116‘7 97.7 2102‘8 5101.6 2101‘1 5100.7 2100‘8 99.7 99.6 100. 4
3 | 99.6 [101.6 1101.4 1100.6 1101.8 1101.4 : 99.8 1117.2 1014 1101.8 1100.9 1100.4 | 98.9 1100.8 | 99.8 1 99.6 : 100.9
4 |99.9 [101.3 1102.4 1101.3 '101.9 1100.9 1100.9 1105.3 101.0 '101. 4 '100.7 '100.9 ' 98.9 '101.3 | 99.8 } 99.6 : 100.9
5 | 99.8 [101.4 1102.0 1100.5 !101.9 1100.5 | 98.6 11153 11023 {1015 1100.1 1100.7 | 98.5 }101.3 | 99.9 | 99.6 | 100.9
6 | 99.7 |100.8 5101 9 5101‘8 5100.1 99.3 98.3 5107‘3 5102.4 5102‘3 98.7 5101‘2 97.4 5101‘3 99. 8 99. 6 100. 8
7 1 99.6 [100.9 1101.7 1104.9 | 97.5 1100.0 ! 98.0 1103.2 '102.4 '101.7 '100.5 1101.5 ! 98.6 1101.3 | 99.8 ! 99.6 ! 100. 6
8 | 99.9 [102.0 | 99.8 1107.6 1100.2 '101.4 1100.2 11147 }101.4 {1016 $100.4 '101.9 | 98.9 11013 | 99.8 | 99.6 | 100. 6
9 | 99.9 |101.5 5100.5 5108‘5 96.8 5100‘9 5106.2 99.7 iloo 8 5100‘9 99. 6 5101‘7 99. 1 5101 1| 99.7 99.6 100. 2
10 |100.8 {103.6 1102.4 1104.5 1 99.6 1100.1 11211 1110.3 1101.7 1101.5 | 98.1 1102.6 1 99.9 1101.3 | 99.8 1 99.6 1 100.3
11 [100.7 {103.1 1102.3 1102.0 | 99.9 !100.3 '116.7 '104.4 '101.0 1103.6 1100.2 1102.4 1100.9 '101.2 | 99.7 ' 99.5 ! 100. 4
12 [100.6 |102.6 5102.6 2105‘0 99. 8 2100‘6 5107.6 2109‘4 5101.2 2104‘0 99. 8 2102‘2 99.0 2101‘2 99. 6 99. 5 100. 2
29/1]100. 4 |102.9 5101.1 2105‘0 5102 1 iloo 6 5105.2 ill6 8 5101 1 2104‘4 5100.4 2101‘ 5100.1 2101‘2 99.9 99.5 101. 5
2 [100.2 [102.4 '102.1 '104.3 1103.5 ! 99.5 :104.8 1112.1 $102.1 '101.9 ' 99.0 '102.0 ' 99.8 1101.2 | 99.5 : 99.1 : 101.3
T % *
. A 7 o R = B B B B & z
. . e |, g | | " FIE | v [T T
” w | Flow | I
% | = K | A 5
5 i % | it w | | | JIZ &
K Bl | o | W | v | B T y
i K K E s i i) i $H 15 i A L7 ot il il fﬂ | $H
28/2] 95.7 96. 2 96. 4 76.4 iloo.o 99. 5 96. 6 5104‘4 99.0 5100‘7 5101.3 99.9 | 99.6 5100‘5 iloo.o 5100‘5 95.7 94.0 99.7
3 950 195.6 1961 170.9 1100.0 | 99.2 1 94.1 1105.6 1 98.9 1104.3 1 99.8 1 99.9 [101.6 1101.4 1100.0 1101.7 | 100.1 i 98.1 1 104.9
4 | 94.6 194.7 194.6 1 76.4 1100.0 |101.0 ! 99.8 1104.4 | 98.3 1104.0 '100.8 ! 99.8 |102.9 1102.2 1100.0 1102.5 | 102.4 | 103.2 | 100.5
5 |95.2196.1194.1175.2 1100.0 | 98.8 | 95.0 11025 | 98.3 1100.7 }100.9 | 9.8 |102.9 1102.6 1100.0 1103.0 | 101.7 ! 101.9 | 101.2
6 | 945 595.0 93.4 75.2 iloo.o 98.0 92.3 5101‘5 98.7 5100‘7 5101.5 99.8 [102.5 5102‘0 iloo.o 5102‘4 100.7 99.0 104. 5
7 9411942 192.8 1 77.2 1100.0 | 99.6  95.8 1 96.2 1108.7 11015 1100.5 | 99.8 [100.8 1101.7 1100.0 11019 | 95.0 ! 92.7 i 100.4
8 |93.7 193.8192.0 ! 76.0 '100.0 | 99.6 ' 96.7 1100.4 108.7 '100.8 | 99.2 ' 99.8 100.9 '101.7 1100.0 1102.0 | 95.1 ! 92.9 ! 100.4
9 | 93.4 93.6 90.7 76.8 iloo.o 100. 3 97.2 2101‘6 5106.6 2103‘0 99. 8 99.8 |105.1 2104‘3 iloo.o 2105‘1 105. 4 106. 6 102. 5
10 | 95.0 1 93.6 : 90.6 1 76.8 1107.3 |101.3 1103.0 1 98.7 1 99.4 1104.5 : 98.4 1 99.8 |105.2 1106.4 1100.0 1107.6 | 105.1 1 105.7 i 103.6
11 | 95.4193.6190.7 181.5:107.3 [ 99.9 1 98.2 1101.5 1101.7 1104.3 : 97.5 + 99.8 |106.1 1107.7 1100.0 1109.1 | 102.0 : 103.5 | 98.5
12 | 95.8 1 93.7 1 90.9 ! 87.3 1107.3 |101.4 '103.6 ' 97.7 1102.0 1104.3  97.5 } 99.8 |104.9 '105.0 '100.0 '105.8 | 100.9 ! 102.3 | 97.7
29/11 96.1 593.9 91.1 588.9 5107.3 100. 3 99.7 97.2 5102.0 5102‘1 599.8 99.6 |101.1 5102‘7 iloo.o 5103‘2 93.1 90.4 99. 5
2 |96.9194.8 19141928 1107.3 | 98.9 1 96.2 1 95.3 1101.7 1102.8 1 98.7 1 99.6 [101.0 1101.4 1100.0 1101.7 | 95.2 : 93.0 i 100.3
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28/2 104. 6 97.8 2101.3 99.7 ilO0.0 98.4 2100.2 97.1 99.3 95.4 ilOO.G 100. 3 2100.5 5100.2 ilO0.0 99.9 {104.2 5100.5
3 [105.1 1102.1 1100.6 [100.1 !100.6 } 99.2 1100.2 | 97.0 1101.5 ! 95.3 1100.3 |100.3 1100.5 1100.2 1100.0 |[100.1 {105.9 $101.0
4 1054 1104.8 1103.3 [100.1 | 98.8 | 99.2 1101.1 | 97.6 1100.0 | 96.4 1100.0 [101.7 1102.8 1100.2 1100.0 |101.4 {105.8 1101.6
5 [105.4 5104.8 5102.3 100. 5 5100.8 98.7 5101 1]97.5 5100.1 96.5 99.4 [101.7 5102.8 5100.2 5100.0 100.7 {104. 2 99.3
6 |106.0 1104.3 1104.0 [100.9 1102.1 1 99.3 1100.9 | 98.4 1 99.5 1 97.8 1 99.4 [101.7 1102.8 1100.2 1100.0 [100.5 {102.5 1 98.9
7 {1051 1106.5 11022 [101.1 1102.9 | 99.3 1100.9 | 98.0 1102.2 | 97.1 | 99.1 |101.8 1102.9 1100.2 1100.0 |100.8 {103.3 | 99.6
8 |105.1 5106.5 5103.3 100. 8 5101.5 99.9 5100.9 97.7 5104.8 96. 4 99.1 [101.8 5102.9 5100.2 iloo.o 101.8 {101.4 5100.7
9 |105.1 1108.8 1104.0 [100.3 1 99.8 1 99.6 1100.9 | 97.3 1100.0 1 96.9 1 97.7 |101.8 1102.9 1100.2 1100.0 {101.3 {101.2 1101.7
10 | 99.0 1115.0 1 99.4 {100.8 1101.1 ¢ 99.1 1101.3 | 97.7 1100.2 : 97.5 | 97.6 [101.8 1102.9 1100.2 1100.0 [102.5 {102.8 1103.7
11 [103.5 1116.3 1104.0 [101.0 '101.6 ' 99.5 '101.3 | 98.3 ! 99.2 ! 98.5 ! 97.6 |[101.8 '102.9 $100.2 1100.0 |102.4 {102.5 '104.0
12 [106.7 5117 1 2103.3 100. 7 2100.9 99.2 2101.3 98.7 99.7 99.1 97.6 [101.8 2102.9 5100.2 ilO0.0 101.6 {100.7 5102.2
29/1[106. 7 5106.8 2104 0 [100. 99.9 99.7 2101.3 98. 2 98.9 98.8 96.7 [101.8 2102.9 5100.2 ilO0.0 100.9 {101.5 5100.5
2 [106.7 1105.0 '104.0 [100.0 | 98.4 ' 99.3 1101.3 | 98.1 | 99.0 ! 99.4 ! 95.0 |101.8 1102.9 !100.9 1100.0 |101.2 {106.4 100.5
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28/2100.1 | 99.2 |100.8 1100.0 101.7 '103.4 1100.0 1100.2 | 90.6 [100.8 | 99.8 | 99.9 | 99.4 | 9.6 | 99.3 [100.3 [100.0
3 {100.3 99.2 [100.8 §1oo.o 5100.8 5105.1 iloo.o 5100.2 89.5 [100.9 [100.4 | 99.9 | 99.4 | 99.6 | 99.4 |100.4 |100.1
4 |100.4 11011 |{101.5 1100.0 1100.2 :107.2 1101.6 1101.4 | 90.6 [101.9 [101.3 | 99.4 | 99.8 [100.0 | 99.9 [100.8 [100.6
5 [100.3 1101.2 |101.2 !100.0 !100.1 1105.1 1101.6 1101.4 | 91.3 [101.9 [100.8 | 98.9 | 99.7 | 99.9 | 99.7 [100.5 |100.3
6 |100.2 5101.2 101.0 §1oo.o 99.3 5104.7 ilOl.G 5101.4 92.4 [101.9 [100.5 | 98.9 | 99.6 | 99.7 | 99.6 [100.4 |100.2
7 {100.4 5101.1 101. 1 §1oo.o 99.0 5106.3 ilOl.G 5101.4 91.2 [101.9 [101.1 | 98.9 | 99.6 | 99.6 | 99.6 [100.4 |100.3
8 |100.6 1102.6 {101.0 1100.0 ! 98.8 1105.6 $101.7 '101.4 | 89.8 [101.9 [102.3 | 98.9 | 99.6 |100.0 | 99.6 [100.6 |100.4
9 [100.4 1101.4 [101.5 1100.0 1100.0 1107.9 1101.7 }101.4 | 90.2 [101.9 [101.4 | 98.9 | 99.5 | 99.9 | 99.5 |100.5 |100.5
10 [100.5 5102.3 101. 1 §1oo.o 98.6 5107.2 5101.7 5101.4 91.0 [101.9 [102.5 | 98.8 |100.0 [100.9 {100.1 [100.9 [100.9
11 [100.5 1102.1 [101.0 1100.0 i 98.4 1106.5 1101.7 1101.4 | 92.5 {101.9 |102.3 | 98.8 [100.2 [100.9 |100.4 [101.0 |100.9
12 [100.4 1101.6 |101.4 1100.9 ! 98.0 '110.9 1101.7 1101.4 | 93.7 |102.8 |101.6 | 98.8 [100.3 |100.8 |100.4 [100.9 |100.8
29/1[100. 7 5101.0 101.6 5100.9 99.2 5110 2 5101 5101.4 93.9 [102.3 [100.8 | 98.4 [100.0 |100.6 |{100.1 [100.6 |100.3
2 |100.7 1101.2 |101.0 1100.9 + 97.5 :107.6 :101.7 1101. 4 | 95.3 [102.4 [101.1 | 97.8 | 99.9 |100.4 |100.0 [100.3 |100.0




